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SR BER | FRTOBE ~ IE4 |1k 185~ (58 |F k68~ %1088 | IE4F ~ 415 1 B | FH45M ~F 1468
AEEB=E 1, 300M 1, 500M 1, 500M 370H 370H
FREE 900M 1, 000H 1, 000H 250M 250M
INSEE 400M 500M 500M 120M 120M
HEREE 1, 500M 1, 700H 1, 700H 420M 420M
R—IL 2, 000M 2, 500 2, 500 620H 620M
BEEMEAN
Rl Fi& = ER-BLET
542 B | FRTO ~ EF |k 1B~ 158 | Fik6m~F%108 | EF ~F 1418 | F %5~ FRor
ARB=E 200M 200M 200M 50M 50M
PREE 150M 150M 150M 30H 30H
INSEE 100M 100M 100M 20M 20M
HEETE 150M 150M 150M 30H 30H
R—IL 700H 700H 700H 170H 170HM




